= 0l & AFE B M A

M BAA
My yARA=N S
ool BAEY =3 EER-ED
SA- RO (3) - MEAY - BES 0l &k o Soe =2
sAHL 7,739,790 6,779,366 960,424
= 573,834
| 2,113,610
AlH] 3,315,514
]l 1,736,832
HABA=R & 2,266,908 2,266,908 0
= 313,336
J| 76,300
AlHI 1,839,122
=l 38,150
da22AH A 2,266,908 2,266,908 0
= 313,336
| 76,300
AlHl 1,839,122
4 38,150
AR LAIE Ml K& 348,152 348,152 0
= 313,336
AlHI 34,816
301 LB A= 348,152 348,152 0
= 313,336
AlHI 34,816
01 AR EEE 03 348,152 348,152 0
OFAMLAANE MH=O 348, 152,000& 348,152
= 313,336
AlHI 34,816
FAURLAE 2ZH| K& 1,758,956 1,758,956 0
AlHI 1,758,956
307 212+0l & 1,758,956 1,758,956 0
AlHI 1,758,956
10 AFRISXIE = 1,758,956 0 1,758,956
OFURAANYE 23Hl XA 1,758,955,460& 1,758,956
AlHI 1,758,956
BAUBAHNH(EZEEY) 22 152,600 152,600 0
| 76,300
AlHl 38,150
4l 38,150
307 2I2tol ™ 152,600 152,600 0
J| 76,300
AlHI 38,150
2l 38,150
05 DIt E S 152,600 152,600 0
OBNBHME (EEE) 294 XA
152,600,000& 152,600
| 76,300
AlHl 38,150
4| 38,150




SR
XN ZH: &
S Tt

o
chel: Al

SA- RO (3) - MEAY - BES 01 & o Soe =2
HAUBHAHUH(EEE) SML SXsg XS 7,200 7,200 0
AlHI 7,200
307 212+0l & 7,200 7,200 0
AlHI 7,200
05 BIZH2 & = 7,200 7,200 0
OFMBHEH(EZEE) SMA XY X2 7,200
AlHI 7,200
oA S& 5,264,172 4,299,048 965, 124
= 260,498
J| 2,037,310
AlHI 1,476,392
]l 1,489,972
olz MHlA &at 4,549,929 3,693,273 856,656
= 260,498
| 2,036,110
AlHI 1,438,992
=l 814,329
Lol ool R2AL e 123,500 130, 120 A6,620
| 61,750
4l 61,750
307 QI2tol A 123,500 130, 120 26,620
| 61,750
-4l 61,750
01 2 ZH| 123,500 130, 120 A6,620
OLel B f=2X XA 123,500, 000& 123,500
| 61,750
el 61,750
AL MMM S AU AAS 72,000 51,300 20,700
| 36,000
AlH] 18,000
-4 18,000
101 212 d| 60,000 18,000 42,000
| 30,000
AlHI 15,000
4| 15,000
4 D12t 22 RS2+ 60,000 18,000 42,000
OALMHEMUNMSSET AU AMNSTSER EX
60,000, 000& 60,000
| 30,000
AlH] 15,000
2l 15,000
201 B2 HH| 8,000 28,800 A 20,800
| 4,000
AlHI 2,000
-4 2,000
01 At 2teltl 8,000 28,800 A 20,800
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AlHI
T4l
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M BAA
Fx: A0 58
SRl S MHIA S (98
_ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
OUHLMEBAMEFAMHIA BMAFH S 72
800,000& 800
Jl 400
AlHI 200
24l 200
2d3ed 29 163,346 0 163,346
p) 81,673
AlHI 81,673
101 @124 59,000 0 59,000
Jl 29,500
AlHI 29,500
04 JIZHHZ2Z2NHSES 59,000 0 59,000
O=¢Z3cd REX 59,000,000& 59,000
Il 29,500
Al 29,500
201 L2 32,870 0 32,870
Jl 16,435
AlHI 16,435
01 AtR2telH 32,870 0 32,870
O=g3cd 23 32,870,000& 32,870
Il 16,435
AlHI 16,435
202 44l 1,500 0 1,500
Jl 750
AlHI 750
01 SLHOII 1,500 0 1,500
O3 X ¥ 4EM UF, ST
1,500,000& 1,500
Il 750
AlHI 750
203 B R =2 1,000 0 1,000
Jl 500
AlHI 500
03 Al F A AR A 1,000 0 1,000
O=g3cd = 1,000,000& 1,000
Jl 500
AlHI 500
301 et al= 4,000 0 4,000
P 2,000
Al 2,000
12 JIEt2 a3 4,000 0 4,000
OsHd3A 24 4,000,000& 4,000
p) 2,000
AlHI 2,000
307 2I2t01 ™ 60,976 0 60,976
Il 30,488




M BAA
Fx: A0 58
SRl S MHIA S (98
- _ _ FSRE =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
AlHI 30,488
01 22 +=Hl 60,976 0 60,976
OzdHExH ¢ 60,976,000& 60,976
Pl 30,488
Al 30,488
405 XH&HF S 4,000 0 4,000
p) 2,000
AlHI 2,000
01 ML =ZFSHI 4,000 0 4,000
OgRE a=d 1,300, 000& »2CH 2,600
Il 1,300
AlHI 1,300
Odold=ed 1,400,000& = 1CH 1,400
Il 700
AlHI 700
AN EEEN 2=Hl XN& 668,660 668,660 0
p) 334,330
Al 334,330
307 2IZtol & 668,660 668,660 0
p) 334,330
AlHI 334,330
05 212t &= 668,660 668,660 0
OBALNEEER 22| 668,660,000 668,660
Jl 334,330
AlHI 334,330
&8 - Aot E01 X#E 253,729 177,976 75,753
= 202,983
Al 25,373
Tl 25,373
307 212+01 o 253,729 177,976 75,753
= 202,983
AlHI 25,373
Tl 25,373
05 212t &= 253,729 177,976 75,753
Q&R - AldotE<0l X 253,729,000 253,729
= 202,983
AlHI 25,373
-4l 25,373
geSeHA 91,813 81,542 10,271
Jl 45,906
AlHI 22,954
el 22,953
101 212 dl 19,500 19,500 0
Jl 9,750
AlHI 4,875
T4l 4,875
04 JIZHZ22ASE =+ 19,500 19,500 0




M BAA
Fx: A0 58
SRl S MHIA S (98
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
OgdEdA REX 19,500,000& 19,500
Il 9,750
Al 4,875
Tl 4,875
201 224 2,098 1,700 398
Il 1,049
AlHI 525
-4l 524
01 AtR2telH 2,098 1,700 398
OZLseias 24 2,098,000& 2,098
P 1,049
AlHI 525
24l 524
202 (44l 1,800 1,800 0
Il 900
AlHI 450
-4l 450
01 = LHAObI 1,800 1,800 0
ARUE & IOt 1,800,000& 1,800
Jl 900
AlHI 450
Tl 450
203 & 2= 100 300 A200
Jl 50
Al 25
-4l 25
03 Al =&AL =& 100 300 A 200
OgLdEAA H2FZ 100,000 100
Jl 50
Al 25
el 25
301 dBt2HS 500 500 0
) 250
Al 125
Tl 125
12 JIEt2 a3 500 500 0
OIASHA HaX 24 500,000& 500
Jl 250
AlHI 125
Tl 125
307 21Ztol & 67,315 57,242 10,073
Jl 33,657
AlHI 16,829
T4l 16,829
01 22 +=Hl 66,690 56,544 10,146
OgLEEs &8 7¢ 66,690,000& 66,690
Il 33,345




M BAA
= poAY =8
Crol: O|2AIHIA BHA (ol @
S AR .S (3 H) - NBAIY - B A A} OH &EIE Ho=2t
cSH I T2 ° . [= Bl ) =5 0:”/‘l|_% Lsa
AlHI 16,673
el 16,672
05 BIZtRIEE 625 698 AT3
OEEA & A W= 625
J| 312
AlHl 156
I 157
405 RHobFE S| 500 500 0
J| 250
AlHl 125
el 125
01 At =S HSHI 500 500 0
OgadseiAs 28 2y ¢ 500
J| 250
AlHI 125
-4l 125
Ot AZHA 4,338 6,840 A2,502
J| 3,550
AlHI 788
201 L Bt2FH| 1,250 832 418
J| 1,000
AlHl 250
01 At 2teltl 1,250 832 418
Osss M& 1,250
| 1,000
AlHI 250
307 2I2tol A 3,088 6,008 22,920
Il 2,550
AlHI 538
01 2P =H| 400 800 A400
OZLEH 2A40ts =] 400
| 400
05 BIZH2 & = 2,688 5,208 A2,520
OZRm0ot A28 2,688
| 2,150
AlHI 538
| 452,580 403,626 48,954
| 226,290
AlHI 226,290
101 el24d| 18,000 16,500 1,500
Il 9,000
AlHI 9,000
04 JI12HHZ22NSES 18,000 16,500 1,500
OgXIIEd HYREX 18,000, 000& 18,000
| 9,000
AlHl 9,000




M BAA
H: DAY B
CHel: olZMHIA B chel M@
_ _ PSS I =
SN T H(3H) - HRAY - B Y Aron Ol Ak ol 2
201 Yer2 | 3,000 3,000 0
| 1,500
AlHI 1,500
01 AR 2t eldl 3,000 3,000 0
OogxJ1Za 24 3,000
Il 1,500
AlHI 1,500
203 YR =Xl 500 500 0
Il 250
AlHI 250
03 A=A AR =] 500 500 0
OLZIAT Y2 XA 500
Il 250
AlHI 250
307 2I2toI ™ 431,080 383,626 47,454
Il 215,540
Alt] 215,540
05 BIZtRIEtE 431,080 383,626 47,454
OQZIIHA AXHl 0f = 431,080,000 431,080
Il 215,540
AlHI 215,540
astxto 24 X 448,040 467,580 A19,540
Il 224,020
AlHI 112,010
-4l 112,010
307 2I2+0 & 448,040 467,580 19,540
9 224,020
AlHI 112,010
2| 112,010
01 2L P2 448,040 467,580 19,540
Otk 2=Hl K& 448,040,000& 448,040
Jl 224,020
AlHI 112,010
-4l 112,010
oAt AP JItHZ22 Xt 9,000 10,000 A 1,000
AlHI 4,500
-4l 4,500
101 Q14| 9,000 10,000 21,000
Al 4,500
-4l 4,500
04 JIZHNIZ22XRSE+ 9,000 10,000 A 1,000
OgaelAty Margle 9,000
AlHI 4,500
Tl 4,500
MOfE S| AAT 8,729 12,641 A3,912
Il 6,983




M BAA
= poAY =8
Sl Q2 AHIA EA (e E2
SMN-HHM .. AHA(SH) - MRAY - BES Aol a4 Hlw &2
co=m s IR ° . cC el E = =5 0:”/|l|,% Lsa
AlHI 1,746
201 L EH2FH| 388 388 0
| 310
AlHI 78
01 AR 2teld| 388 388 0
OMONMED| ALXHAY ES 388,000& 388
| 310
AlHI 78
307 2Iz2tol A 8,341 12,253 A3,912
J| 6,673
AlHI 1,668
01 2 ZH| 453 444 9
OdlFst 443 Z&| 453,000& 453
| 362
AlHI 91
05 QIZtRIEZ 7,888 11,809 A 3,921
OMOHTEI| A2AE
7,888,000 7,888
| 6,311
AlHI 1,577
Srsdlt 2248 71,893 0 71,893
= 57,515
AlHI 14,378
307 QIz2tol A 71,893 0 71,893
= 57,515
AlHI 14,378
05 BIZ2H2 & = 71,893 0 71,893
Oozgx=sSd A A2 H &8l olE 71,893,000 71,893
= 57,515
AlHl 14,378
Z2EA 35,720 34,000 1,720
AlHl 10,716
-l 25,004
201 Ler A 8,000 8,000 0
AlHl 2,400
-l 5,600
01 At 2teltl 8,000 8,000 0
OgE:Ed 29 8,000,000 8,000
AlH] 2,400
sl 5,600
202 ¢ddl 1,500 1,500 0
AlHl 450
el 1,050
01 SLHA bl 1,500 1,500 0
OYgzE=EA 1,500,000& 1,500
AlHI 450




SN
X XH .
S Tt

ok

A
I =A
olZAHIA A e L
AN - XM . cle (s HEAY . N2 A} OH HEE =}
4| 1,050
203 AR =& 800 800 0
AlHI 240
4l 560
03 Al =2 800 800 0
OYz:E 800, 000& 800
AlHI 240
-l 560
301 et 4t 4,000 4,000 0
AlH] 1,200
2l 2,800
12 J|Et2 432 4,000 4,000 0
Oz 4,000,000& 4,000
AlHI 1,200
=l 2,800
307 2I2tol A 18,120 17,100 1,020
AlHI 5,436
-4l 12,684
01 222 ZH| 18,120 17,100 1,020
ooz AB8 + 18,120,000& 18,120
AlHI 5,436
4l 12,684
405 RHebE S H 3,300 2,600 700
AlHl 990
4| 2,310
01 Attt = 3,300 2,600 700
Od &Y 1,100, 000 *3CH 3,300
AlHI 990
-4l 2,310
58 gz 343,140 357,124 A 13,984
| 171,570
AlHI 85,785
-4l 85,785
101 @124 d| 343,140 337,332 5,808
| 171,570
AlHl 85,785
4| 85,785
04 JI2tHI2 2kt 343,140 337,332 5,808
OXEE cl dREX
21,446,250 x16Y 343,140
| 171,570
AlHI 85,785
-4l 85,785
MOoreretRt 22| 18,592 0 18,592
| 9,29
AlHI 4,648
-4l 4,648
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M BAA
Fx: A0 58
CHRl: Q2 MHIA S (&9 :&d)
_ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
307 el2t0l: 18,592 0 18,592
Jl 9,29
AlHI 4,648
el 4,648
01 2L 24| 18,592 0 18,592
ONILEX A= A2E 7 74,3682 #2502 18,592
p) 9,296
AlHI 4,648
e 4,648
UEE YAV (MHIEX) 27,844 25,308 2,536
AlHI 13,922
T4l 13,922
101 @124 27,844 25,308 2,536
Al 13,922
Tl 13,922
04 1IN 22 HSE S 27,844 25,308 2,536
OSsd LA dREX
1,740,250 x16F 27,844
AlHI 13,922
T4l 13,922
HELEHI XN 1,250 1,250 0
AlHI 1,250
307 212+01 A 1,250 1,250 0
AlHI 1,250
01 2 2¥ =l 1,250 1,250 0
OHdELEFI| 2L 1,250,000& 1,250
AlHI 1,250
A& EdH 29 5,000 5,000 0
AlHI 5,000
201 24 1,500 1,500 0
AlHI 1,500
01 A2 2telH] 1,500 1,500 0
OXagdH 24 1,500,000& 1,500
AlHI 1,500
307 el2told 3,500 3,500 0
AlHI 3,500
01 2L 74| 3,500 3,500 0
OXaEEH 25 228 2  3,500,000& 3,500
AlHI 3,500
AcgEpEe oz 5,000 6,000 A1,000
Il 2,500
-l 2,500
201 Yer2 gH| 3,000 3,100 2100
Jl 1,500
T4l 1,500

_11_




M BAA
Fx: A0 58
CHRl: Q2 MHIA S (98
— — XN LH =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oflﬂg‘g BlusZ
01 AtR2telH 3,000 3,100 A 100
Oogzgzds olyel =29 3,000,000& 3,000
Il 1,500
T4l 1,500
203 B2 =& 200 200 0
Jl 100
Tl 100
03 Al M= &H 2 =& 200 200 0
OdaLgads =2 200,000& 200
Jl 100
T4l 100
301 2 a=s 800 800 0
Il 400
Tl 400
12 JIEt2 a3 800 800 0
Odzlgzda olgztel 800,000& 800
Jl 400
Tl 400
307 212+01 A 1,000 1,500 A500
Jl 500
T4l 500
01 22 +=Hl 1,000 1,500 A500
Oozg4E25 #¥ 1,000,000& 1,000
P 500
24l 500
KA BFEAHIAL ZAMHRS 48,570 48,570 0
p) 24,285
-4l 24,285
201 2| 1,000 1,000 0
Jl 500
Tl 500
01 At22+2IH 1,000 1,000 0
OXISAIS SHEHZEAL ZAIMHTE 29
1,000,000& 1,000
) 500
24| 500
203 YR FXH 500 500 0
Il 250
T4l 250
03 Al =& 2= &l 500 500 0
ORXIAALE SHEHIAL ZAIHHARS HRFA
500,000& 500
Jl 250
Tl 250
307 2I2t0l ™ 47,070 47,070 0
Il 23,535

_12_




M BAA
dH: 20A2 B
&2 B MHIA b (ctel &
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES &hoh ‘Oﬁ,‘\jg‘g BlusZ
Tl 23,535
05 BI2tR 47,070 47,070 0
OX Pl S 47,070,000& 47,070
Pl 23,535
-4l 23,535
IS e 123,908 205,992 ~82,084
p) 61,954
AlHI 30,977
e 30,977
301 et 15,250 13,440 1,810
Il 7,625
AlHI 3,812
T4l 3,813
01 A3l 15,250 13,440 1,810
oBg 15,250,000 15,250
Il 7,625
AlHI 3,812
Tl 3,813
307 21240l 108,658 192,552 283,894
P 54,329
AlHI 27,165
T4l 27,164
019z 108,658 192,552 83,894
Oul 108,658,000 108,658
P 54,329
AlHI 27,165
T4l 27,164
HUYESS =2 21,555 20,927 628
Il 10,778
AlHI 10,777
101 14l 21,555 20,927 628
Il 10,778
AlHI 10,777
04 JIZtHZ2ENEE > 21,555 20,927 628
OULEESSSUH 22X 21,555,000& 21,555
Jl 10,778
AlHI 10,777
S (4 700,684 203,676 497,008
Il 350,342
AlHI 175,171
Tl 175,171
307 @it 700,684 203,676 497,008
) 350,342
AlHI 175,171
Tl 175,171
0122 700,684 203,676 497,008
og 700,684,000& 700,684
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S Tt

ok

SA- RO (3) - MEAY - BES 01 & o Soe =2

| 350,342
AlHI 175,171
4| 175,171

OlolE ¥ Ao 5,180 5,180 0
| 2,590
Al 2,590

307 2120 & 5,180 5,180 0
| 2,590
AlH] 2,590

01 2P =H| 5,180 5,180 0
O8Y AHAY 2 2,080,000 2,080
p] 1,040
AlHI 1,040
O0oIE &EtAlSE 2 3,100,000& 3,100
| 1,550
AlHI 1,550

HdEAEA AE 13,200 13,200 0
| 6,600
AlHl 6,600

307 @12+0l & 13,200 13,200 0
| 6,600
AlHI 6,600

01 22 F2=H| 13,200 13,200 0
O8Y JHAY 2 13,200, 000& 13,200
| 6,600
AlHI 6,600

X0 &=J1&& 21,818 16,762 5,056
| 10,909
AlHI 10,909

307 212+0l & 21,818 16,762 5,056
| 10,909
AlHI 10,909

01 22X P2=H| 21,818 16,762 5,056
OXIof =I1&E& 21,818,000& 21,818
| 10,909
AlHI 10,909

X0 XIZ2H 22N 121,416 84,576 36,840
| 60,708
Altl 60,708

307 S12H0| & 121,416 84,576 36,840
| 60,708
AlHI 60,708

01 2222 =H| 121,416 84,576 36,840
OXIOf XIsdl 22l X& 121,416,000 121,416
| 60,708
AlH] 60,708

_14_
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Fx: A0 58
SRl S MHIA S (98
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
ALE A 24 32 14,000 14,000 0
Al 7,000
Tl 7,000
201 L2 12,500 12,500 0
AlHI 6,250
T4l 6,250
01 At 22l 12,500 12,500 0
Oddet Ot 2SJ| =29 12,500,000& 12,500
AlHI 6,250
el 6,250
202 ¢4l 700 1,000 A300
Al 350
-4l 350
01 LA 700 1,000 A 300
OHZEAl EE A 700,000 700
AlHI 350
THl 350
203 B2 =& 800 500 300
AlHI 400
Tl 400
03 Al FA AR 800 500 300
OAZLZA 28983 294 800,000 800
Al 400
-4l 400
AR AL R 420,180 413,879 6,301
Il 210,090
Al Bl 105,045
Tl 105,045
101 el Hl 25,100 25,100 0
Il 12,550
AlHI 6,275
Tl 6,275
04 DIt 22 S E 25,100 25,100 0
OH=HAIE X gREX 9,300,000 9,300
Jl 4,650
AlHI 2,325
-l 2,325
OelZxFAz N YREX 15,800,000& 15,800
P 7,900
Al Bl 3,950
-4l 3,950
201 24 2,240 2,240 0
Il 1,120
AlHI 560
-4l 560
01 AtR2telH 2,240 2,240 0
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M BAA
HH: 201242 BX
Sl Q2 AHIA EA (e E2
SA - EH L ORI(B) - MRAIY - HAS 0] & e HlDE2
OJtedl o HESH 2,240,000 2,240
| 1,120
AlHl 560
-4l 560
203 YR FAY| 260 260 0
| 130
AlHl 65
-4l 65
03 Al =X H R FEH| 260 260 0
O 6y AHLSE HRFA 260,000& 260
| 130
AlHI 65
-4l 65
307 S12H0| & 392,580 386,279 6,301
J| 196,290
AlHl 98, 145
4 98, 145
01 2P =4I 387,743 381,019 6,724
OHM A=Al =Hl XA 234,932,000 234,932
J| 117,466
AlHI 58,733
=l 58,733
Ocls=&8A=H XA 99, 112,000 99,112
| 49,556
AlHl 24,778
-4l 24,778
Ogas & ots HZ2e 45,299,000& 45,299
| 22,649
AlHI 11,325
i 11,325
O&FEAE &2 IS4 o2H XN&
8,400,000 8,400
| 4,200
AlHI 2,100
2l 2,100
05 RIZtRE S 4,837 5,260 A423
Ogas & ots A 2e 4,837,000& 4,837
J| 2,419
AlHI 1,209
2l 1,209
R0t AP0 A A2 2el 182,772 161,539 21,233
| 91,386
AlHI 45,693
i 45,693
201 LBr2 2| 579 579 0
| 289
AlHI 145
-4l 145
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RPN
ROIAY B
OB AHIA At L
_ _ _ N E
SNBSS - HRAY - BHES Aboy e 2
01 At 22l 579 579 0
OAIMOF HANBAA B2 579,0002 579
p 289
AlHI 145
2yl 145
307 Q120 182,193 160,960 21,233
p 91,097
AlHI 45,548
2| 45,548
SEEREEN 182,193 160,960 21,233
OAIMOF BAMHAAY KB 6,025,000 6,025
p 3,013
AlHI 1,506
2l 1,506
O &4 THALOIA ZAH 2 storzel
62,083,0008! 62,083
p 31,041
AlHI 15,521
2l 15,521
OO0t L && 4 0140t o2/ X2
114,085,0002 114,085
p 57,043
AlHI 28,521
2yl 28,521
A2 EHODIE O U EE A 40,320 40,320 0
AlHI 20,159
2yl 20,161
101 1244 10,500 10,500 0
AlHI 5,250
2| 5,250
04 JIAR2ERS B4 10,500 10,500 0
O EHOIIIEOF & ZX AA YRRE
10,500,000 10,500
AlHI 5,250
2| 5,250
307 QI2H0| 29,820 29,820 0
AlHI 14,909
2l 14,911
NEEEEE 29,820 29,820 0
OYAS EHOIIIEOF & EX A
29,820,000 29,820
AlHI 14,909
2| 14,911
L0l BACE - ANYYAY 5,200 0 5,200
p 2,600
2l 2,600
201 LEr2 Y| 3,500 0 3,500
p 1,750
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O=2%E % 428 7Y 1,700,000& 1,700
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o 23 15,156 16,159 A 1,003
101 212 dl 13,506 13,474 32
04 JI2ZtKIZ2 2 XS 13,506 13,474 32
Oselxzg2 L3 2 HYREXL 13,506
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- =Xt 55,0003 «1Z +36 1,980
- A Xt 55,0003 12 +8 440
ZASEE R 12,320,000 *4. 5% 555
NELSE BE= 12,320,000 *1.4% 173
MEE RS 12,320,000& #0.705% 87
=022 2 12,320,000 *2.82% 348
LI RLEE 348,000& *6.55% 23
201 Lyt Y] 500 1,760 A1,260
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oselxzd = 500,000 500
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198X 224 1,150 925 225
O=sclxs4 e & 1,150
252 25,000 204 500
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BB S S 300,000& 300
Sl 7,196 9,526 A2,330
Aut2 bl 4,996 6,096 A1,100
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ORXEHAY 222 MA 2,096
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3503 *3800H =122 1,596
=0t OlszAl A 2,500 *200A 500
ORXEH ZA=E 2,400
ERANTE= 100,000& 122 1,200
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o eAL S
el ZEdae (el =@
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
01 AR 2t eld| 200 0 200
OZazAeAE2E 200,000 200
AlHI 200
202 (44l 2,400 2,400 0
Il 1,200
-4l 1,200
01 =2 LHOA bl 2,400 2,400 0
oaxgyd 2 el 2SS AL 2,400,000& 2,400
Il 1,200
T Hl 1,200
AN 150,882 138,402 12,480
101 21 24H| 88,292 78,274 10,018
04 JI2tHI2 2 Xt 88,292 78,274 10,018
OgaI|IZ2tH B 88,292
QI24d| 53, 1602 x8& 150 63,792
N, 53,1603 «8H x30& 12,759
- R 53,1603 x8H »7 2,977
=] 7,000& *8H 20! 1,120
- = =SEE RES 79,528,000 *4.5% 3,579
CESEE RES 79,528,000 *1.4% 1,114
MBS RES 79,528,000& *0.705% 561
- ZHLEE FES 79,528,000 *2.82% 2,243
LIV AEE BRY=
2,242,690 x6.55% 147
201 gEt2dd| 3,970 4,190 A 220
01 AtR2tel 1,970 2,190 A 220
Ooggoe E5&3 2¢ 50,000 8H »23] 800
OogaAxe 28 =4 7,000& «1H 30 210
O HIF 2HA 3,000 x8H x40 960
02 3224 2,000 2,000 0
OggEy RNE=> 2,000,000& 2,000
206 M= 4l 56,620 55,938 682
01 =4l 56,620 55,938 682
OogaAs 1,684
xS 30,000& +0.04el & *2002! 240
FER 1,940& » 12| & x2002] 388
ad= 1,760& *32| & x2002] 1,056
Oxgsea=R 15,970
%3 30,000& »22| e 2502 15,000
R 1,940& 22| & 2502] 970
Ox=s=2]F A4S 30,000& 0.09¢| A *5,5002] 14,850
ORSHMH 15,000,000& 15,000
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chel: Zggate (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F K @ﬁOH BlusZ
OJIE 22 F 1,500,000& 1,500
O=gisgdse N 7,616
a5 1,760& 1002|1604 = 2,816
B 300,000& * 1601 = 4,800
405 Aok S 2,000 0 2,000
01 A&t =S S F SHI 2,000 0 2,000
OxgE s8I 2,000,000 =1CH 2,000
2384 o 7,257 6,849 408
101 124 3,017 3,009 8
04 JIZHZ2Z2HSES 3,017 3,009 8
SZULES S A 3,017
elals] 55,0003 x 1 »40 2,200
N 55,0002 » 12«8 440
- At 55,0003 » 1 =2 110
2VAZIEE 22
2,750,000& *4.5%1H 124
- NEHEE 2EZ2 2,750,000 *1.4%* 1 39
CMTHEE fE= 0 2,750,000 +0.705%1H 20
- 2RAAYEE RES
2,750,000 »2.82%+ 14 78
CAEINQAEE RYS
77,5503 %6.55%+1H 6
201 gEt24Ed| 4,240 3,840 400
01 At2t2itl 4,240 3,840 400
OuZEE oidlE & SHM M=
202 +100,000% 2,000
oZggue g2 M 302 +5,6000H*55 840
OUELIE2AUL & 2Y olgael
1,000,000& =13 1,000
OHEB=Z TASAA A7l
20,000& =20 400
BAL 29 516,304 420,924 95,380
SAMHA SA 122,824 109,750 13,074
201 24 72,344 80,590 N8,246
01 At2 22l 2,890 3,450 A 560
OXNAEAZ AT FY&M 2E
70,0008 *7& 490
OoXNgoz2AH8 M M 16,0003 1503 2,400
02 32244 69,454 77,140 N7 ,686
OEAMN &DI= 1,712,000& 123 20,544
OFAM &ot=E= 300,000& 128 3,600
OFA ZHIES =8 161,000& 122 1,932
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M BAA
Fx: A0 58
tel: BAA 29 (98
= % o (5 = Iz dEE =
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol Ak O BlusZ
01 A& H] 26,000 0 26,000
Og=4 d22)| 22 6.000
FIIA2 3,000,000 *13 3,000
AXE FCU A 3,000,000& %12 3,000
OB T HOAlE &X ¥ #2MH
20,000,000& 20,000
e 293 6,180 3,680 2,500
201 gEt24Ed| 3,680 3,680 0
01 At2t2itl 3,680 3,680 0
OLANA HZ X QLS8 ARE 7
1,300,000& 1,300
O&=J| dxt 65,000& 122 780
Ostads deH 2 50,000 *12& 600
OHlENE MB=Z 80,000& 122 960
OXNS0IH =2 3,300& 128 40
401 A& B L2 Y 2,500 0 2,500
01 Al Hl 2,500 0 2,500
Bstiol®E EHl ¢ £X 2,500,000& 2,500
o8 gral 387,300 307,494 79,806
101 2124 dl 23,274 20,562 2,712
04 JIZtH2 2 S ES 23,274 20,562 2,712
OFAUEANY HREX 9,768
Qe 55,0002 x 1130 7,150
- =X 55,0003 x 12 *262 1,430
- Xt 55,0003 » 12 +62 330
- =H=SEE RES 8,910,000& »4.5% 401
- NEEE REZ2 8,910,000 *1.4% 125
ATHEE 2E2 8,910,000& *0.705% 63
IPUALEE 2EHS 8,910,000 »2.82% 252
LI AEE RHY= 252,000 *6.55% 17
OB AMA HREEX 13,506
ey 55,0003 x1H*180 9,900
=Xt 55,0002 » 12«36 1,980
™ Xt 55,0003 » 1 8 440
- 3PS EE BES 12,320,000 4. 5% 555
-EEE RES 12,320,000 *1.4% 173
AMHEE RES 12,320,000& *0.705% 87
=02 FEH= 12,320,000 +2.82% 348
LOEIQUAEE 2ES 348,000 *6.55% 23
201 Yer2 | 16,644 18,140 1,496
01 At 22l 14,644 14,140 504
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X XH .
S Tt

ok

BE .G (B) - HREAY - BA S sk oy e
OXd n=Esdg 5% 18,000& 2% 43| 144
OHlJl= el 6,700
oz mHIlIE 2,5002 x200Kg 122 6,000
2N A 350,000 *23] 700
OBALSHBY 925 29 4,200
HABANO AT BHSY
70,0002 x5 H 128 4,200
OFMEHZA 2D &= 3,000
JIZTXISHO 28t &4
000, 000& 3 x13] 3,000
OgAMEa &X=E 2 30,0003 20 600
02 E=2gHl 2,000
OZAMEHl =&KX 2,000,000& 2,000
oA 346,982
SHA=H| 346,982
OgEsssE 7Y 2,600
SER=2dE 43 4,000& *100H »43] 1,600
S AHIAZ 5,000& *200& 1,000
OHEEEXS 271,500
BY 2t& 11,000
- 20l 2,000& 250 500
-oel 3,500& *3,000H 10,500
CHEIEA 4,500& *1,000H 4,500
QIS F Xt 256,000
-B= 8,000& *32,000H 256,000
OlgEEY 225 2,430
1218 F=AHI 1102 %15, 0004 1,650
22S 5,200& *150= Xl 780
OdaHe|ZAF Al 2 THEF Y 69,190
UBAHLEN(HE) 6,000& +1,5004 9,000
2HE A A 2,020
-BE 2t 1,000& 1,500 1,500
-Ccg 2t g 4,000& %130 520
21 s A 4,390
-2H0ls 113 9,300& 30024 2,790
-2H|s 28 2,000& 80021 1,600
2EEEB A MEHA 21,000
- HEIZEA 1,000& *20,000H 20,000
-Sdidt # AES 1,000 *1,00024 1,000
C2AZSHA(16T) 32,780
-2 A 710&+10,00024 7,100
- =SS A 350& *3,50024 1,225
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M BAA
Hu: 0y =7
ool BAA 2 (el a2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
-H=SEY S A 2,870&*50A 144
- dHBA 800& 1504 120
- SToE HZ A 1,000& *2,400H 2,400
- EHFHA 2003 *300A 60
- =AM 2,000& 12021 240
- ABHAA 2703 x150A 41
- 2HA A A 2,550 x20021 510
- AH2E A 6,000& 15021 900
- 2ct0ICI ot At 5,500& *2,400A 13,200
-HOLEdIAHEZE A 3,500 *50021 1,750
- S2dAHSZEA 7002 *700AH 490
- Bl A 1,000& *1,00024 1,000
- OlOI =& At 2,000& 1,800 3,600
Ogade|ZdA 24228 7Y 1,262
CEES 6,600& «705 462
1318 [FEFAI 1002 =8, 0004 800
405 Aok SHI 400 0 400
01 AL =S HEH| 400 0 400
OdIoIME Hel=E | 400,000 = 1CH 400
HY2AHU(BHA) 208,710 213,410 24,700
QIR 144,314 139,006 5,308
el A 144,314 139,006 5,308
101 el d| 144,314 139,006 5,308
02 JIEtA 2= 144,314 139,006 5,308
O2AdA AR A 144,314
SR 91,716
-Jl= (¢S Jtotstd) 45,858,000 «2H 91,716
s 960
- B Xt 40,0003 x2H x12& 960
2R 30,936
-Jt= 1,289,000& x2H «12& 30,936
S| = 4| 5,082
- gAY 130,000& x2F » 123 3,120
- GOtE A 91,716,000 »70%+*11/360 1,962
- Ag B 9,600
-t 400,000& x2H+12& 9,600
e 6,020
-t 8,360& «2H «30Al 2tx 123 6,020
ol = Al 64,39 74,404 10,008
Jl=2&H| 64,396 74,404 210,008
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M BAA
M HZy2IIH(EAL)
el J123| (98
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
201 2| 44,596 52,604 8,008
01 AtR2telH 39,256 37,184 2,072
Oogx=¢ 50,0003 x2H *x114& 11,400
Ofd=s 2 20,0003 20 400
ORN2g==2H] 13,680, 000& *100% 13,680
OJl2dR=d S| 13,776,000& 13,776
02 32244 5,340 15,420 210,080
OFUE A= 35,000 20«12 840
oR#Es 4,500,000 4,500
202 044l 9,800 12,200 A2,400
01 2O 9,800 12,200 ~2,400
OXA 22A=FH0HI 5,000,000& 5,000
O2A JI=gd 23 bl 200,000& x2F 12 4,800
203 g R =&Y 9,500 9,600 A 100
01 D[ 22d R FaH| 3,000 3,000 0
OJjazagge2x=al 3,000,000& 3,000
02 FRAIMAH R F A 1,640 1,680 A40
OZ It =48] 1,640,000& 1,640
04 FEAEZESRFAH 4,860 4,920 A60
ORAN2S YR 4,860,000 4,860
405 KtatE S| 500 0 500
01 Tt ESFH SHI 500 0 500
Oz 3J/880| 500,000 =1CH 500
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